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IBPS Target Batch Schedule

** Monday- Basic topic ( 10min Quiz )

X Tuesday- Basic topic ( 10min Quiz )
X Wednesday- Basic topic ( 10min Quiz )
** Thursday- DI special ( Prelims Level )

** Friday- Top Trending Questions ( Word
Problems) - Same or Miscellaneous

X Saturday- Mains Magic ( Mains level) =
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In what ratio 74rs/kg of rice mixed with 97rs/kg of rice so that mixture become 81rs/kg?

74 TUA/TREAT AT I 97 TUU/ TRl TTAE o AT THEATAT ATAT B qTich THSIUT 81 TUA/Thetl BT
WT?

\ A.7:16
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D.9:18
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If a man have 120 kg sugar. If some part of sugar he sold at a profit of 10% and
remaining at a loss of 20%. If he overall gain 5% profit then find how much quantity he

sold at a profit of 10%?

gie fRaT 3mgaT & urd 120 fohell el &1 IS el @1 $o REAT 10% & MH W IR AW

20% &1 B W I &1 Tie g8 Pol [HL 5% oA UIH &Il &, ol JAd Do 6 38
10% & ol UX fhdal AT =12




48 liter mixture contain mixture of milk and water in the ratio 5:3 and 91 liter mixture
contain mixture of milk and water in the ratio 8:5. If we mixed both mixture then find

the ratio of milk and water?

48 offe THHOT A gU 3R Urell &1 fFH0T 5:3 & Hegurd A § 3R 91 offex f&smor & gy 3R
Tt T fHAOT 8:5 & 3gurd H &l Il & Sl fFA0On A fFeld & dr gy 3R urell a1
HIUTd JTd HITTT?




124 liter mixture contains 62.5% milk. 28 liter mixture is taken out and 10 liter water
mixed in the mixture then find the new ratio between milk and water?

124 SfeT TAHOT H 62.5% g¥ &1 28 oficX fAHUT fAhram ST & 3 %01 A 10 e Ul
fAemar Srar § df gy 3R Uil & i 391 Agurd g S

&N\ AL30:19
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Two equal container contain mixture of milk and water are in the ratio 4:3 and 11:2
respectively. If we mixed both mixture then find the ratio of milk and water?

al AT utal H ¥ 3R Ut &1 fHHOT hAM: 4:3 IR 1:2 & Iguid A &1 I &A A4l
ﬁrﬂvﬁaﬁﬁmq’?ﬁq@lﬁ?mqﬂ 3JUTd T hIfTT?
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L N3 ""‘) 77 B.129:53
C.13:5
D.5:13
E.NOT




If two mixture contains mixture of milk and water are in the ratio 2:1 and 3:2
respectively. If both mixture mixed in the ratio 1:4 then find the new ratio of milk and

water?

gfe & fAAUN & gY 3 urell &1 fANOT &, df haAQM: 2: 1 3 3: 2 & HJud & &I Tl
aledt fHSON Bl 1: 4 & urd #A A Sar §, d g¥ 3R UTT @1 FA7 IFgUid A1d
HIia?




If three containers contain milk and water are in the ratio 2:1, 3:1 and 5:1 respectively.
If all mixtures mixed are in the ratio 2:3:4 then find the new ratio between milk and

water?

gfe T el H g 3R Urell &I Hgurd $hAA: 2: 1, 3: 1 3R 5: 1 7l I AT Fah
fASO &1 U 2:3:4 &, d g 3R U=l & " &1 FAT gUid AT Hiisa?




If two mixtures contain milk and water are in the ratio 5:2 and 7:6 respectively. In what
ratio both mixtures should be mixed to get the new mixture in the ratio 8:5?

gfe & fAAUT A gY 3R Urell &#1 3efurd hAM: 5: 2 AN 7: 6 & T fAHOT A 8:5 &
HJUTT H U1d A & forw gl RN d fha rqurd # fFeman sar anfeu?




60 liter mixture contains 70% milk. How much liter of water must be added to maintain

S50% of milk?
60 SlieX fHH0T & 70% g¥ &1 50% GU &l TATC WA & AT fhaalr ofieX urer fHemar S

ATfeu?




If the 48kg of sugar of 27rs/kg is mixed with 72kg of sugar of 52rs/kg. In what price per

kg mixture should be sold to get 20% profit? .

Ife 27 TuA/frelt Y 48 fhelt DY 1 52 TG /fhet 1 72 fhelt A & TY Hemam Frar
T 20% oA UIH HX & forw gfd [hal A#07 & fofd e O o1 ST A1feU?
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